= .A.
K HFOEREE >
OfF—IL. FUY—RAR—RA-BF| AL & (B4 - F/BR)
i F R F % D] £ H
= VAN ==
g AR I FRESR O ~128% 1385 ~ 178 1805 ~ 228 9B ~ 228%
TR 8,770 15,430 20,170 44370
AR EHURLGELNEE
" +-BRA/KE 11,400 20,050 26,220 57,670
)L 000M LT DA E IS 2e | T B 13,150 23.140 30,250 66,540
= & +-BRA/KE 17,090 30,080 39.320 86,490
7 11.001MLLE3000MUTOASE | T B 15,780 27770 36,300 79,850
5 p
g [EBRTELS +-BWRE/HKE 20,510 36,100 47,190 103,800
~ B00IMLEQABHERMRTHE | F g 17,540 30,860 40340 88,740
EE-EEROSE. Br. REZ
EHEBMELTHATALE +-ERA/HKE 22,800 40110 52,440 115,350
TR 4,440 5,550 6,660 16,650
7 | ASHEEHIRLANEE
.I) +-BRA/KE 5,770 7210 8,650 21,630
27 ) TR 6,660 8,320 9,990 24,970
R 2| NpHERRT HLE
X +-BRA/KE 8,650 10,810 12,980 32440
ivﬁﬁwﬁﬁﬁigﬁ%gﬁi,@ TR 8,880 11,100 13,320 33,300
BHELTRIAT 5L +-BRA/KE 11,540 14,430 17,310 43,280
TR 1,800 2,250 2,700 6,750
7 | ASHEEHIRLANEE
.I) +-BRA/KE 2,340 2,920 3510 8,770
23 ) TR 2,700 3,370 4,050 10,120
X 6| ABHEMIRT BLE
\E: +-BRA/KE 3510 4380 5,260 13,150
gvﬁﬁmﬁﬁﬁigﬁﬁ%gﬂ% TR 3,600 4500 5,400 13,500
BHELTRIAT 5L +-BRA/KE 4,680 5,850 7,020 17,550
OMREXRF AR E (B4 F/R)
: A T % & W z 0
L il OBs~ 128 | 13B§~17B% | 18B§~208% | OBS~20R%
g EEA (88) 520 650 780 1,950
EEB (68) 580 720 870 2170
EEC (88) 660 820 990 2.470
EED (8%) 630 780 940 2.350
T TS 7-Y(IEEF) BRI S 7=Y (= F)
Jf‘ﬁ e ) Tm%7-Y5M M &7=U10M
% BN RAR—R
a Bt EE 1M &7-Y3M 1M 7-Y6M
TSR
MeEk % EEERAD
2 HR—IL 2,490
:.JE T —AR—RA 1,620
{; J1J—RR—ZB 650
71 EEA 130
o %55 140
# HEC 160
=50 160




